9: E_1(x) \/ 0_2(x) |- N_3(x) (L.Or) [1,2]
1: E_1(x) |- N_3(x) (E L.Unf.) [3,4]
3: E_2(0) |- N_3(0) (N R.Unf.) [5]
i ES2]((0)) B == T (3T l})
4: 0_1(y) /\ E_2(s(y)) |- N_3(s(y)) (N R.Unf.) [6]
e Al AN Bzt [|= DAl o) [EalUarra ) 17/
7: E_1(z) /\ E_2(s(s(z))) /\ 0_3(s(z)) |- N_1(s(z)) (N R.Unf.) [8]
8: E_1(z) /\ E_2(s(s(z))) /\ 0_3(s(z)) |- N_1(z) (weaken) [9]
9: E_1(z) |- N_3(z) (Subst) [10]
10: E_1(x) |- N_3(x) (Backl) [1]
2: 0_2(x) |- N_3(x) (0 L.Unf.) [11]
11: E_2(y) /\ 0_3(s(y)) |- N_3(s(y)) (N R.Unf.) [12]
iz [2 20 A esilst)) |\= Dty (2 [Lallira,) [kl alal)
13: 0_3(s(@)) /\ E_4(0) |- N_1(@) (N R.Unf.) [15]
15: 0_3(s(@)) /\ E_4(0) |- T (Id)
dia (o 23720 oy @GS Esle) )y I aleza))) = WEalEsiz2))) - UL Rallhre ) LAkl

16: 0_2(z) /\ 0_3(s(s(z))) /\ E_4(s(z)) |- N_1(z) (E Fold) [17]
17: 0_2(z) /\ E_4(s(z)) /\ E_5(s(s(s(z)))) |- N_1(z) (Weaken) [18]
18: 0_2(z) |- N_3(z) (Subst) [19]
19: 0_2(x) |- N_3(x) (Backl) [2]

Miss !!!
Roo il st 0

Measures proposed for the roots in cycles:
aly [Eal]]
25 12
Checking the link of IAAs from buds to roots:
19 to 2: | 2 -=> 2 [true ] ==> true
10 to 1: | 1 -=> 1 [true ] ==> true
The proof has succeeded




